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Which of the following statements are correct with regard to main objects of audit of expenditure:

I The payment is made to the proper person and so acknowledged and recorded in such a manner that a second claim against
Government on the same account is impossible

Il The expenditure is in accordance with a sanction properly accorded

1IL. The expenditure is incurred by an officer competent to incur it

IV. The charge is correctly classified

(A) (@) BIA1 AR 1

(a) I and II only

(B) (@) I, I1, 111 3R IV
(b) 1, 11, I and IV

(C) () Had 11 3R I

(c) I and III only

(D) (%) B 1. 1 R m
(d) L, 11 and III only

Correct Option(s): A

>, o ! fafTaeE & iR @R & [ slad: $F W WRSR) ITRar 82

Which authority is ultimately responsible for keeping the expenditure within the appropriation?

(A) () I&1 oival HgIFFEas

(a) Controller General of Defence Accounts

B) (@) PG &I Fafid $ are wiaeR

(b) The authority administering the appropriation

(C) () Walfira e aan vy g Re ol (da®

(c) PCDA/CDA concerned

(D) (%) UdhId fawii HellgdR (3M15.UH.U.) BHH B
(d) IFA Command Headquarters

Correct Option(s): A
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In the case of an officer. whose year of birth is known but not the exact date, which date is treated as the date of birth for the
purpose of determining the date on which he should be held to have attained the age of superannuation?

(A) (@) 1 Jailg
(a) 1st July

(B) (T) 1 SR
(b) 1st January

(C) (M 31 e’

(c) 31st December

(D) () 1 3T
(d) 1st April



Correct Option(s): A

4. e § @ F I HY- 10 82

Which of the following statement is incorrect?

(A) (@) &1 O YT BRT Siaw e iR eraTadia, Srdrer-Seiikd darden grf

(a) Risk Based Internal Audit (RBIA) by the Defence Accounts Department will be Compliance based audit.

(B) (3T) 381 G FIHIT ERT SaH et Safe daradie, eI (RprH) sty cRaraden gifl

(b) Risk Based Internal Audit (RBIA) by the Defence Accounts Department will be Performance based audit.

() () R8T aE T g1 @1 7T <HuTTel) aRaTaRle, Honfert &) GRal eRaaien ad ot fawanfya gift

(¢) The ‘System Audit’ carried out by the Defence Accounts Department will alse extend to security audit of the Systems.

(D) () &1 T AU GRSt 7T fofell 1 TRaTaiad, e L e/t HRY/EH e 7 ayuiRa arayrE
% ST g1 e gl i 3 fafte & U § areierd <&ie ¢

(d) Audit of bills carried out by the Defence Accounts Department will primarily be governed by the compliance to the
provisions laid down in Supply Orders/Contract Agreements/Work Orders as they are legally binding documents.

Correct Option(s): A
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Which of the following is not required for ‘Audit of Payment’:

%%@mmﬁ?ﬂummmmmaﬁnﬁmﬁmmwmm@ﬁaﬁmmmm
/A (Gara)

(a) Copies of Sanction Order of the Competent Financial Authority (CFA) and Contingent Bill/Invoice reflecting all
mandatory details.

(B) (@) ST ME/HFd e le

(b) Contract/Supply Order/Accepted Tender(AT) Note

©) (1) ST ST AR/ U T M RY/e 1 TS i/ b U w1edt (ST IR & 3FER) U Halfid

(¢) Certified Receipt Voucher (CRV)/Certificate regarding stores supplied/services rendered/ milestone (as per Contract
Agreement) achieved

(D) (9) R TS B a1 ] e, R, st i ol & oy R foa T |

(d) The Tender Enquiry has been floated as per applicable Rules, Regulations, Instructions and Orders

Correct Option(s): A

g d 4rd™ & T SrIMilitar aches & 3R fafg EARGECILE]]
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Which is the office centrally responsible for auditing and adjusting the contingent and miscellaneous expenditure of Military
Attaches/ Advisors to Indian Embassies abroad?

(A) (@) 38T oar nu fAdae, 43 faed
(a) PCDA, New Delhi

(B) (@) &1 o1 A (), 6 S1aH]!

(b) CDA(Army), Delhi

(C) (M) fae= Hare™
(d) MEA

(D) (9) &1 T (U@ IHd 6 L), 73 el

(d) CDA(IDS), New Delhi

Correct Option(s): A
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Audit officers in the performance of their duties should ensure the application of the following principles:

1. Every officer is expected to exercise the same vigilance in respect of expenditure incurred from public moneys as a person
of ordinary prudence would exercise in respect of expenditure of his own money.

I1. The expenditure should not be prima facie more than the occasion demands.

[11. No authority should exercise its powers of sanctioning expenditure to pass an order which will be directly or indirectly to
its own advantage.

(A) (@) Hdd 1 TG 8

(a) Only (I) is correct

(B) (T) $aa 1 3R m FE1 §

(b) Only (1) and (III) are correct

(C) (1) Pael 1 3R 1 Ul &

(c) Only (II) and (IIT) are correct
@) (@) Wi e §

(d) All are correct

Correct Option(s): A

8. Uy FrEad!/Mdae] g safaw yrar g+ aRiRufaal # faar ST et
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Provisional payments may be made by the Principal Controllers/Controllers
1. In cases of lack of budget provision
I1. In cases of lack of power or lack of authority

(A) (@) I 1 1 8

(a) Only 1 is correct

(B) (@) $90 1 JQT 3

(b) Only II is correct

(© M1 3AR 13 S E

(c) Both [ and 11 are correct

(M) ()1 AR 1 &H! TTed &

(d) Both I and II are incorrect

Correct Option(s): A
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The amount due to Government are recoverable:

1. through pay bills/IRLAs in case of Government employees except where recovery is under rules required to be effected in
cash, e.g. Barrack damages

I1. through work or supply bills in the case of contractors

I11. by remittance of cash into a treasury or the bank on the authority of Military Receivable Order

TV. by adjustment through Defence exchange accounts and settlement accounts

(A) (@) HAA L 11 R YL §

(a) Only L, I and III are correct

(B) (@) $ad 1 MR 1 91 3
(b) Only I and II are correct
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(C) () Had 11 3R M el §
(c) Only II and III are correct

(D) (%) T uel ¢

(d) All are correct

Correct Option(s): A
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Major Financial & Accounting Irregularities (MFAI Report) may include following type of irregularities:
I. Cases involving irregular maintenance or non-maintenance of accounts which have serious implication
1. Improper utilisation of plant and machinery

[II. Deterioration in the condition of stores due to unduly long, inadequate storage

(A) (@) Hae 1901 8

(a) Only 1 is correct

(B) (@) Had 1 3R m TEI §

(b) Only I and III are correct

(C) (M) Had 1 IR 1T T

(c) Only 1 and II are correct

(D) (&) T L 1 3R 1 HE1 &
(d) AlL L, IT and IIT are correct

Correct Option(s): A
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In relation to Ministry of Defence, which of the following transactions are covered under ‘Debt Heads’?
I. Loans and Advances

II. Provident Funds

III. Deposits and Advances

(A) (@) Pad 1
(a) I only

(B) (@) 1, 11 3R Im
(b) 1, 11 and TII

(C) (M) Fad 1 3R I

(c) T and IT only

(D) (8) Had 11 3R 1
(d) 11 and 111 only

Correct Option(s): A

l13.. Hﬁﬂéﬂﬁﬂ?ﬂ@;{m gﬁﬁa;?ﬁqwma
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“Transfer Entries’ are used for the following:

L. To correct an error of classification in the original accounts

II. To revise classification provisionally made as a matter of convenience

M. To adjust, by debit or credit to its proper head an item outstanding under debt heads

IV. To adjust inter-departmental and other transactions which do not involve receipt or payment of cash

.,



(A) (P) DA 1
(a) I only

(B) (@) Pad 1 3R 1
(b) Tand I only

(©) (M1, 10, I AR v
(c) L IL, III and IV

(D) (8) &ad I, 11, 3R 111
(d) 1, 10, and IIT only

Correct Option(s): A

13.

-1 T -1 & W e ¢ 3R el & el R T 1S 1 i e §U e SR b 9

Match List -I with List-II and select the correct answer using the code given below the lists:

il f gl
(A T T (ava=T 6t Sy
% TIeE ATa=T 1 ava=< it Sft o
w1 wercer afafEad 2 ara=s fr At 6
ar e faer 3 arg=cH At 1
T g fer 4 ava=T £t At 2
(Type of Transaction) (Class of Voucher)
A Cash Voucher 1 Class of Voucher9
B Transfer Entries 2 Class of Voucher 6
C Railway Bills 3 Class of Voucher 1
D MES Bills 4 Class of Voucher 2
(A)
(T} F 9 T 9
3 2 1 4
(@@ A B C D
S 2 4
(B)
(@) F I qTN
1 3 & 2
t) A B ¢ D
1 3 4 2
(&)
m T T T
3 4 2 1
© A B C D
4 2 1
D)
['q') F 37 9
2 1 8 4
@ A B C D
1 3 4

Correct Option(s): A



L4, Gilte.a IR el auT @ TR qem & S SR H 8g gd o 99 & 9l & fer i goft. Ju Bifthad) &
fepa-aa faaT Sifell 82

To facilitate differentiation between the outstanding balances relating to the year of Review and those relating to previous
years, which category prefix is operated for earlier year’s balances?

(A) (P) 11
(a) 11

(B) (@) 66
(b) 66

()@ 77
(c) 77

(D) () 99
(d) 99

Correct Option(s): A

fepa <1 e
Whether re-appropriation is permissible between funds allotted for ‘Charged’ items of expenditure in terms of Article 112 (3)
of the Constitution and Voted items of expenditure.

) @ &l
(a) Yes

(B) () T
(b) No

(C) (1) F&m WIBR IR fR sl g

(¢) Depend upon the competent authority

(D) () ST H A DIg Tel

(d) None of the above

|5, o] Y B URT 112 3)aﬁmﬁfﬁa@wmaﬂumﬁanﬂ$maﬂaﬁwﬁ IR g &1 oHd el & i
R CEC %

Correct Option(s): A

16. T® &g e srafag & <& sy A sl st i B o & THIESH & g U TSR 31 &1 T
il 1 R 2 | iR, T ST 3 TSR, 30, 1 g6 vl 3wy $fe Shiel! ol ugd € i o fer g 3R
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T-Section of a Regional Controller’s office has lost the original copies of MROs received for adjustment of refund of

Temporary Duty advance. However, Accounts Section has already received the credit scrolls with duplicate copies of MROs
and adjusted them. What action devolves on T-Section?

(A) (@) I oRET ST 7 U5 € hfSe Thlel Bl Ui b fean g, ofct: & 3IHAT G B3 BRATS 98] &1 oI &

(a) No action is required by T-Section as the Accounts Section has already received the credit scroll.
(B% (E}) AT SFHIT R 4 Y UTed TH. 3R, 31, BT g8l uferd! & Hel of <& SIgHrTERI ATIL S FHTSH T ST

(b) T-Section should carry out the necessary adjustment with reference to the duplicate copies of MROs received by Accounts
Section from bank.

(C) (1) TS ) ARG feba S SMa=d el ¢

(¢) No adjustment is required.

(D) (9) S # ¥ DI el

(d) None of the above.
Correct Option(s): A
17. TR Al (e & forg fopw ol 83 & d @l YR GRBR gR1 Wi fhar g2

Which private sector bank has been authorized by Government of India for Government business?

-~ o~ o~ L ~ o~




(A) (P) 3151313 H1. 3R, b [AHCS
(a) ICICI Bank Ltd.

(B) (T) TR 9 fofties

(b) Axis Bank Ltd.

() () 38 214l 38, 4 faiffds

(c) IDBI Bank Ltd.

(D) (9) I9ad | I qit
(d) All of the above

Correct Option(s): A

18. {6 R & 2l & dia gAfdfAgieH A

Re-appropriations are permissible between “hlch types of heads?

(A) (@) Wit =i

(a) Receipt heads

(B) (@) g 2
(b) Expenditure heads

(©) (T) (@) 3R (@) Tl
(c) Both (a) and (b)

(D) (9) Tftfd o7 ) Galferd A & fory ey Wit ! gAfaRaford faar ot Webell @

(d) Excess receipts can be reappropriated to offset increased expenditure.

Correct Option(s): A

19, 2 TRERE RER H U Hebed & ufiars ($H) HA & g e UuR 3R S ol & g e <
3T & Ueh Hraferd g1 600/~ FUA 1 o [ T T | S R b e 0 o afiepe faar Sme:

Rs. 600/- were incurred by a DAD office for stamp paper and legal expenses in defending a case in the Central Administrative
Tribunal (CAT). This amount will be classified as?

(A) (@) UHIRd 351
(a) Charged Expenditure

(8) (@) Wi 4
(b) Voted Expenditure

(©) N Fofa &t g giF 9@ Ered-oi

(c) Court deposit till verdict is declared

() (9) i &1 gwon gH 9 Ida 2 J a1 sne

(d) Placed in a suspense head till verdict is declared

Correct Option(s): A

20. wmmé%%m-mmaﬁmmwwa

1. $ad U oI b
ML v fafie i aren ue g=H
1v. Ueh Afdd

As a general principle grants-in-aid can be given to?
I. A govt. recognised body

II. A public body only

IIL. An institution having a distinet legal entity only
IV. An individual

(&) @) I A Y BIS o0

(a) Any of the above

®) @)1 3R 1
(b)Tand II



(C) (N 1L, ML 3R IV
(¢) 11, Il and IV

(D) (9) Had I
(d) 111 only

Correct Option(s): A

31 Feord S 3 U1y ST T SRR & I, TS AR S e H 4 B T eI, ored 2 ol asigay
3T (8 BRad) Tl R o 8, 3 Aafad H < faar e

The amount booked under Revenue, Capital and other transactions of Government including Deposits with RB, the balances of
which are not carried forward from year to year are closed to:

(A) (@) A Al

(a) Public Account

(B) (F) TXHRI oGl

(b) Government Account

(C) () &1 Il

(¢) Defence Account

(D) (8) Hd &1 gAfrd (i
(d) Consolidated Fund of India

Correct Option(s): A

zz.a@ﬁ%ﬁ@ﬁﬁﬁuﬁamaﬁﬁuﬁaﬁa{%ﬂaﬁqwmﬁu‘@'ﬁﬂhm%ﬁwwméﬁwﬂ
B T el o & = H 3fa o § TN & & H affepd e g Sl TR

Which authority decides whether any particular recovery in respect of Defence transaction is classifiable as revenue or as
deduction from expenditure under the rules regulating accounts of recoveries?

(A) (@) HRA & Fdad U4 Agrdadess

(a) C&AG of India

(B) (F) YRd & s Ud Agreraaiied & uxmel 8 i oal Hgida®

(b) CGDA in consultation with C&AG of India

(C) () HRd & Fiefd Ud MRIaariiies & Wl § o wgiad

(c) CGA in consultation with C&AG

(D) (¥) T &1 HeTEb & Wl 4 foxfia TegsaR (& 9ard)

(d) FADS in consultation with CGDA

Correct Option(s): A

23. 3% WHR & 8! &1 e Fafafad e H bl S g:
eIk (e

1. HRd &1 [

1L HIRd P i ol

1v. Higwg (Afg

V. 0T 3R AGH

The accounts of Central Government are maintained in the following part(s):
I. Consolidated Fund of India

II. Contingency Fund of India

IIL. Public Account of India

IV. Public Fund

V. Loans and Advances

(A) (@) DA 1

(a) I only

(B) (@) 1, It 3R I
(b) I, I and III

~ ~



(C) () ITYGad |HI

(c) All of the above

(D) (B L IV 3RV
(d)LIVand V

Correct Option(s): A

24, SHER] R TSR Y Uferyfa oo Bt ell St & forg i o1 apafl faarHi 82

What is the period of limitation for recovery by Contractors of Security Deposit from the Government?

(A) (@) URrHfa s 3 aiE ¥ 03 9y
(a) 03 years from the date of deposit

(B) () Ufyfa 571 @t aE W o5 I
(b) 05 vears from the date of deposit

(C) @) TR 3afd & FA B U 05 a9

(¢) 5 years from expiry of warranty period

(D) () SPT-JHIGH & 03 T4

(d) 3 years from completion of contract

Correct Option(s): A

ﬁmﬁmgma@fﬁﬁéwﬁ%mwﬁwﬁm%%ﬁﬁﬁzwéﬁmﬁmmﬁuﬁﬁmﬁﬁm%
mﬁmﬁmﬁmw 87

Which office is nominated as proforma Controller for DAD officers and staff posted abroad in Mission/ Embassies?

(A) (@) &1 AT FdFH(Ud g & W), 73 facel
(a) CDA (IDS) New Delhi

(B) () &1 <1 HgIAdA® &1 drafad
(b) CGDA Office

(C) () &1 TRET Uy Fga®, 78 faeed!
(c) PCDA, New Delhi

(D) (%) &1 TRaT W Fdad (), TR
(d) PCDA (Pension) Prayagraj

Correct Option(s): A

gt ITF AT TS AR P S
%m@ﬁ%m@ H'THFT Skt T T R RT fhT ST S g1

All payments to a Government servant are reqmred to be paid by payment advice for direct credit to their bank accounts. Is
there any condition in which payment in cash may be permitted?

(A) () BIETE & Hial] ¥, SRae WTeA & favmeae & Wil AT & THE gRT Iy SRl

(a) in cases of hardship, duly approved by HoD in consultation with Head of Accounting Organisation

(B) () I TISiH1 &1 Sral-aae S YiaH & e &1 Udbed gl fbdl ST 8

(b) for implementing scheme where details of payment are not to be disclosed

(©) (M) I <l

(c¢) Both of the above

(D) (3) ITF H A DI Tl

(d) None of the above

Correct Option(s): A

éﬁqqgﬁwmmﬁaﬁmaaﬁvomﬁsaémﬁwﬁéa 39 H1g & U IUP a1 D1 10T {6y UDHR

A Government servant has died at 5 am on the 20th of the month. How will his pay for that month be calculated?



(A) @) I G B 20 TG 7Y Jo W e T SO ilfes St e Sraferd- el & SR gd gg ol

(a) Pay for the 20th of that month will not be taken into account as he expired before the start of official working hours

(B) (@) 20 TG & Yafe & forw a1 et o I 1 4 fovan s
(b) Half day pay for forenoon of 20th will be payable

(©) (1) 7 & Yl feaw 3 forg 3 o1 3(rewo fosar S

(c) Pay will be drawn for the entire day of death

(D) (9) 7§ & vl 71 & farg 3 o1 airgRo fasar sy

(d) Pay will be drawn for the entire month of his death

Correct Option(s): A

38, Wﬁﬁﬁmmﬁ%#&uﬁﬁaﬁ@aﬁ@aﬁqmww%

L %ﬁmw@wﬁw%ﬁaﬁwﬁ%,wm%% T U TR 3{UaIS B B

al%%a{uamsmsﬂ Sfcaiad aria, sit +ff @rg 7 g1, gl

11 31, o TR U TR A @ M I SuRea (IRFEPT) 3ifebd el 81, §R1 HiTa & Hrd H a8 airg

i Teb b B G bl Hi¥d [T /T gl

%. &@Qﬁéﬂﬁﬁéﬂﬁ@ﬁ@ﬁﬂ%%@%mwém 3R Yra fagT (GHe whie) H Trge Ui
i RIRiRE

Which of the following statements regarding reckoning the date of payment is incorrect:

L. Date of payment in respect of a digitally signed advice will be date of uploading on payment portal of the accredited bank or

date mentioned in advice, whichever is later

II. In the case of payment by cheque not bearing superscription for payment on a specific date, the date on which the cover

containing the cheque is posted to the payee

I1I. For payments in foreign exchange to a payee in a foreign country, the date of remittance by the bank and entry of equivalent

amount in the payment scroll

(A) () HAA

(a) Only 1

(B) (@) dhad 11
(b) Only I

(©) () Sudad weft

(c) All of the above

(D) () STIeRI H U DS T

(d) None of the above

Correct Option(s): A

29, ATHR & T Wufte T & e g2

Who is primarily responsible for an overcharge?

(A) (@) ATERUI Td HidaRUT 3fReprl

(a) Drawing and Disbursing Officer

(B) (@) daH ol s

(b) Pay Accounts Officer
UG LELEIRER

(c) Controlling Officer

(D) (9) e =i e

(d) Competent Financial Authority

Correct Option(s): A




30. wméa@mﬁaﬁ%wﬁaﬁ@ 3ifere =1et gntt | Frefafea § 8 &9 Ol e RI[T-T 8
WS' 29 31l o) I faan o1 Wbl 8-

L Tf2 TR SR A U AR 1 U1 B3 H A B fqudid g g

1. 7% TR FHAR 2 faftiad WiHRol & &R iTa & Ui & ¢
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1V, TR QISR & HiFe

Recovery from a Government servant will not normally exceed one-third of pay. Which of the following is not a condition in
which this stipulation may be relaxed:

1 If the Government servant has acted contrary to orders in receiving an excess payment

11. If government servant has received payment without due justification

1L If Government servant has received an advance for a specific purpose and failed to utilise the same or refund it within the
prescribed date

IV. In a case of criminal conviction

(A) (@) had 1 AR 10
(a) Only L and 11

(B) () Had II
(b) Only I1

(©) (T had IV
(¢) Only IV

(D) () Su e FHT

(d) All of the above

Correct Option(s): A

31 o Ry & S ®) 9UR B & U $H SoRard 82

Who is responsible for preparation of budget of a Department / Ministry?

(A) () HEACRI/[3TT &1 Thiepd fawiid FARHR

(a) Integrated Financial Adviser of the Ministry/Department

(B) (@) HATGa/f3Hm &1 T ot s

(b) Chief Controller of Accounts of the Ministry/ Department

(C) (T) VAT f3HNT &1 QST 19 YABDR

(c) Statistical Adviser of the Ministry /Department

(D) (4 HATT/fAHI &1 [FE=d (F912)
(d) Director (Budget) of the Ministry /Department

Correct Option(s): A

32, fyties U4 HRIARTIReE g1 @) T araradian & ey # a7 8 S 9 HYH I8 |
1. U A UPR & S @) e o) i eie & ar A S @1 Upid 317

= $<0 TU A YR aRaT 3R SR & e St & RIFl IR 3h l CIREL
A R B R S R R B T, SR S

111, 38 WRBR & ATl & STt & Rid R QI &0 Y 37 o], Ted], ST SR 30 xS o1 e &
HIeEH Y o Sl §

Which of the following statements is/are correct with regard to the audit done by the C&AG?

I It is in the nature of sample tests with varying quantum of audit for different types of transactions

IL. It is done centrally at the location of the field offices of the IA&AD through examination of accounts, vouchers and other
papers and documents received by them

111 It is done locally at the site of the offices of the departments of Government through examination of their accounts, books,
papers and other documents

(A) (@) 1, 11 3R 1
(a) L, II and TII

(B) (@) Had 1 3R 11
(b) I and II only

-~ a



(C) (Y Dad 1 3R 111
(c) I and III only

(D) () Fad 1 SR 1

(d) 1T and III only

Correct Option(s): A

33, SNFT SRATUleT Hd SR SRaTadien § & S fob:
1. 991 o s o Wfd WIUeR §

1L & o fhU o &l gz Ot

1L &7 398 @1 &% 2R Thet gt & e =i o
v, &1 T YRR gR1 o & (e Widid WaH Bl g 4l

While conducting Propriety Audit, audit will see:

I. Whether there is proper authority for expenditure

II. Whether there was necessity for expenditure

TIL. Whether the rate and scale of expenditure were justified in the circumstances
IV. Whether sanction for expenditure was accorded by authority competent to do so

(A) (@) Had 1 AR 1

(a) I'and Il only

(B) (@) @7ad 1 AR 1M

(b) I and III only

(©) @ L 11 3R 1
(¢) I, 1l and TIT

(D) (F) Iuded gHi

(d) All of the above

Correct Option(s): A
34, WHR A1 B & T 3w TRumH &H S U 82

L TIfY g

1L

In the field of Government accounting, what are the end products?
1. The monthly accounts

I1. The quarterly accounts
TII. The annual accounts

(A) (@) Had I
(a) 1 only

(B) (@) I, 11 3R 11
(b) L. 1T and III

(C) (M) Fad 1 3R 1w

(c) I and 11T only

(D) (&) Bad 11
(d) II only

Correct Option(s): A

35 fayrlg daie sTaRil & 3HHid-
1. T/ I & Ao ol Sraier gIRT AT febdl STl 8

n.%ﬁaﬁmm&mmﬁmﬁwmﬁmﬂﬁmaﬁmm%

Under the departmentalized accounting set up-
1. payments are made by the PAO of the Ministry/Department
1. cheque drawing powers may be vested on certain DDOs

(A) (@) Had 1 951 8
(a) Only 1 is correct

- ~ a




(B) (9) $ad 1 ¥Rl &
(b) Only I is correct

(©) @ 13R 13- TE &

(c) Both [ and II are correct

(D) (9) 1 3R 11 &1 7Teid §

(d) Both I and II are incorrect

Correct Option(s): A

36, o UMt & forg Fafaf@a 3 4 & v e A 32
1. T&fT 3744 Ud fa@m - 2080

11, el §91 - 2076

. 71 ¥ - 0077

1v. IR T - 0078

Which of the following is a Major Head for Revenue Receipts?

I. Defence Research & Development - 2080

1. Army — 2076

1II. Navy — 0077

IV. Air Force - 0078

(A) (@) Bad 11
(a) Only I1

(B) (@) Had 11
(b) Only I

(C) (M) 1 AR WG
(c)Both I & II

(D) (9) ITgad it

(d) All of the above

Correct Option(s): A

37, Frafefad ag T d @ o4 9 2 & i Tarei & g wmr e e gidi 82

Which of the following Minor Heads does NOT have common number for all Services?

(A) (@) 101 - a1 T Hd

(a) 101 — Pay & Allowances

(B) () 105 - URagd

(b) 105 — Transportation

(C) (N 110 - HE8R
(¢) 110 — Stores

(D) (¥) 103 — Hg™P &l
(d) 103 — Auxiliary Forces

Correct Option(s): A

38, &1 a1 UiddherH] & Ty H o Ue 7 v 2l o) de -

In respect of Defence Services Estimates. number of Major heads on expenditure side are-

(A) (P)dR
(a) Four

(B) (@) Uid
(b) Five

(C) (N &:
(c) Six

(D) (4) Hrd
(d) Seven



Correct Option(s): A

39.§w,mainﬁwﬁmazﬁwqﬁwmaﬂﬁféimWaﬂmmésﬂﬂnﬁaﬁ@aﬂ@aﬁa%gﬁnw

Which of the following pairs is NOT correct as per the six tier classification of transactions defined in pamphlet of RDR
Heads?

(A) () IU-T% T : 2 3 (H-Bra)
(a) Sub-Major Head : 2 digits {Sub-Function)

(B) (@) 7Y ;3 i (HIH)

(b) Minor Head : 3 digits (Programme)

(C) () 7 T 4 3feh (HaRH)
(c) Major Head : 4 digits (Function)

(D) (9) FU-2f; 2 3 (HIIDH)
(d) Sub-Head : 2 digits (Sub-Scheme)

Correct Option(s): A

40.1:&@&@@1%%%%1‘1&%&@@%,mﬁ?&na@an(ﬁwaﬁmﬂﬂaﬁ
T foba T 4 s 7 T Aoy & Telel T T8 <R Ve e (RO ) g1 feb i are!
(it Sfae ufdm e @ 3R yefRid g

If a DAD individual was transferred from CDA. Patna to PCDA(SC), Pune, responding debits by PCDA(SC) on account of
outstanding HBA balance would appear on side of the punching medium.

(A) (P) 3R+
(a) R+

(B) (8) 3MR-
(b)R-

(©) (M) i+
(c) C+

(D) (%) -
(d) C-

Correct Option(s): A

AT b e wiT aieRu & i ag e e g iRag_ dlomad exalg

Under the six tier classification of transactions, minor head consists of digits and denote :

(A) (@) 3 oD, TIH

(a) 3 digits, scheme

(B) () 2 3id, YT

(b) 2 digits, programme

(C) () 3 3, W™

(e) 3 digits, programme

(D) (4) 2 3{ch, §d-ThIH
(d) 2 digits, sub-scheme

Correct Option(s): A

42, YSNT e o 3l iy i a7 e Fferad g 2l & 3ef fara ST &

Receipt head under Capital Account is operated under the following Major Head:

(A) (@) 2046
(a) 2046

(B) () 4000
(b) 4000



(C) (T) 8000
(c) 8000

(D) (¥) 0020
(d) 0020

Correct Option(s): A

43, mw%ﬁ?ﬂu ST AT [ e &) o ¥ et usl ot wyig Srfured gkl g1,
A, Ffafad St HSi ST =1y

Questions relating to the interpretation of the orders of the Govt. of India involving financial or accounts considerations, in the
first instance, be referred by the local executive authorities to

(A) (@) HaftId T Py

(a) Service Headquarters concerned

(B) (@) &1 ¢iG1 HgTHdTd

(b) CGDA

(C) (1) e Ud HgTeRaTIRied

(c) C&AG

(D) (1) TRy &1 TR gy e Ran o Fgad

(d) PCDA/CDA concerned

Correct Option(s): A

44, ST RIS g auT FefRd, e & Fdaan affero #_ si@ g

As prescribed by the Controller General of Accounts, the latest classification of heads contain digits

(A) (P) 11 3ib
(a) 11 digits

(B) () 9 3P
(b) 9 digits

(©) (M 12 3P
(c) 12 digits

(D) (9) 15 3{®
(d) 15 digits

Correct Option(s): A

45. 381, 309 AR ST fAumT & g 819 91 el &1 FRuer 39d sia Fafafad @ 9 iy Iur 3 fahar s

Transactions between Defence, Railways and Posts will be settled among themselves by which of the following means:

(A) (@) W ord dep, WU Td., AFTgR & 9310 (TSagH) -1 6

(a) Issue of advice to RBI, CAS, Nagpur

(B) (T) TH. 3R, & HITH Y R0l
(b) Remittance through MRO

(©) (M Vs FGHIYUH

(¢) Cash settlement

(D) (5 VST HATed & SIarl @l AR & Uia Toie Harer/fRHmT gRT o &t e gfdsT

(d) Direct booking of expenditure by agent Ministry/Department against the Demand for Grants of the functional Ministry.

Correct Option(s): A

16, BT TAHAT U 3 ST & TR (2IRie) 3o 0% 1l T dg= S foras) Hay & daredl gri ffae
faHRT &1 UaH 1 7Tg 82

Which department will bear the trausit pay and allowances of an officer whose services are lent by the Defence Services to
the civil department?



(A) () &l HaATe™
(a) Ministry of Defence

(B) (@) &/ G1 YU Fdd (STHE)
(b) PCDA(O)

(C) () SYR o ara faHmT
(c) The borrowing department

(D) (9) 7 HT6

(d) The parent organisation

Correct Option(s): A

47.mawmmﬁéw-m$ﬁwz$mmﬂ?&a%:

Extension of period of validity of a Government sanction already issued requires:

& Y 3R 9Igl e D gl I8! fadiy gageR &) UgHld uied U@ el
(A)(@Rﬁm%% E| % g1, 961 UhIpd

(a) a separate Government sanction to be issued with the approval of the competent authority and concurrence of the Integrated
Finance, where necessary

(B) (@) e Wb Wipfa ST by S Bl TG Tol &

(b) no separate Government sanction is required

(C) () X&) ARG HRIfFEA® P 3G

(c) approval of CGDA

(D) (5) Tl el o wyT e Re ol i &l wgHid
(d) concurrence of PCDA/CDA concerned

Correct Option(s): A

48, g @) Fwfiid wel 4 | B W 7e 0o R w3 Ffa el e

Which of the following items of expenditure is NOT a locally controlled head?

(A) (@) Fiv.srd oqg

(a) Works expenditure

(B) (@) URde 44

(b) Transportation expenditure

(C) () TR §ell & DifHicd! & da Ud Hd

(c) Pay and allowances of the personnel of the Armed Forces

(D) () YR & Wi

(d) Stores purchases

Correct Option(s): A

49. T% GIY §U 3 & RIF W 741 A6 SR BT ST 1 011 & Weley 7 Frafeifad § 3 o1 a1 el 81 2

Which of the following is NOT correct with regard to request for a fresh cheque in lieu of a lost cheque?

(A) (@) T& AU T8 P U1 B 910 U8 & gR1 U &fagfel dees &1 Fsafd feban s arafard g

(a) An Indemnity Bond will be required to be executed by the party requesting for a fresh cheque

B) (@) &gl v R IS AR GRT SEIER foar S
(b) The Indemnity Bond will be signed by the actual payee

(C) (1) &I ders R Hriuras WisRgl gR1Wed UaH & S

(¢) The Indemnity Bond will be witessed by the executive authorities

(D) (5) TSR 3l 3R yfRa S & a7 afagfd dee srazas g

(d) The Indemnity Bond will be necessary in the case of Government Departments and Scheduled Banks

Correct Option(s): A



50. 519 U TR SHER 3 U Fip1 dyt & w0 # nfanfa (R wegd ®1 8, 981 39 Sifad §1e W & fere
forga AR & viftrm s e & for Fefifva safy FafeRad o g

When a Government servant has furnished security in the form of a fidelity bond, the period preseribed for the Government
servant to pay the premia to keep it alive on the due dates is until:

(A) (@) TS gRI BRI B9 &b B: HIE & 918

(a) six months after he vacates his office

(B) (@) 3P gRI BHTTg Be- & (d 94 & d1g

(b) one year after he vacates his office

(C) () G GIt T P BT YROT HAT STR] [Gl §

(¢) he continues to hold that assignment

D) (4) 3G GRI BT B3 & < HIg & 614

(d) three months after he vacates his office

Correct Option(s): A

51, UH.3R.30. B fb ufal ! wraferd Ufd & =0 H 31 w1l 82

Which copy of MRO is retained as office copy?
(A) () Gt ufcat

(a) All copies

(B) () HeT Ufd
(b) Original copy

(©) (N g ufd

(c) Triplicate copy

) (¥) fecfg ufa

(d) Duplicate copy
Correct Option(s): A

52. 4RI & IRafa® T & gey | Fafafed 8 4 o wag 18 82

Which of the following is NOT correct with regard to physical verification of stores?

(A) (@) 39 e Yefe Sriue® TSR yydd: Sukad! 8id §

(a) Executive authorities concerned are primarily responsible for it

%B)(@)wa@ummmwmﬁwww@mmmﬁmm:mmmm

(b) Both LAO as well as Executives authorities are primarily responsible for it

(C) (T TfS T&T AT faHW gRI IR S YHAT WGl § dl 39 AU & U USRI gRI 3 foban o1 I §

(c) It may be carried out by an officer of DAD whenever such verification is considered necessary by that Department

(D) (9) 39 39 Gy @Rd ¥ 9§ fawan ST 91fgu oid a8 Fad gian g

(d) It should be carried out promptly as it falls due

Correct Option(s): A



53, [AERIRGd § § IF 9T HY- 4l 2

1 @41 e ) el B el ater AT Ty afds STl e el W o He # SufEid IR o) Bl Widfd
Tt B3 1 SHTaG bl U a1 ol Heb
11.Gﬁﬁmmﬁ@@ﬁémﬁ%@?ﬁuﬁwmﬁﬁawﬁﬁmwm%uammﬁ@ﬁl@rﬂ@ﬁa’,
fedy ZS¥ard ° &l ST 91gy

L T T b SR R R Hreel # Ied &t Wiopd 17 ¢, T81 39 a1d 1 [0 & v Sl e i
RRT 3T &) 1 A a0 gU S e WipR &1 TS § ag Add A QA g3 ¢

Which of the following is a correct statement?

I Purchase order should not be split up to avoid the necessity for obtaining the sanction of higher authority required with
reference to the total amount of the orders.

II. When stores are purchased from contractors, the system of open competitive tender should be adopted and the purchase in
all condition should be made from the lowest tenderer.

II1. In cases in which higher rates had been accepted on erounds of urgency, special attention should be paid to see that the
expectation in consideration of which higher price was accepted is actually fulfilled.

(A) (@) Pad 1 AR T
(a) Only I and II

(B) (@) Had 11 3R 1
(b) Ouly I1 and TII

(©) @) Had 1 AR 1

(c) Only I and TI1

(D) () Iudad GHt

(d) All of the above

Correct Option(s): A

' mgmaﬁg%mﬁ?ﬁ%$ i WA 9 & R e 2 wEieE
1. 5 3 YRd WMBR 3494 g, 98]
mémmmmmqﬁmwm@ I8

1. o B o) R el <R Rl & 1ol ¢ Wl STem & AT YRA WReR &1 Wipld 3Mawdd ¢, Je! Siid
3JETeTd D1 T84 MYd ©U ¥ far S g
m.mﬁsﬁtﬂﬁa%éﬁmmﬁﬁmﬂaﬁﬁﬁ,wuﬁﬂmﬁmmﬁmﬁ%wﬁéi?l3@
e @ ag Fifya e s 6 g & HRoT T A 3R a4 &1 g1 gg

Which of the statement is correct?

1. Court of Enquiry may not be convened, to investigate all losses which, under existing rules and regulations, require the
sanction of the Government of India to write off.

1. Court of Enquiry should invariably be convened. to investigate all losses which, under existing rules and regulations,
require the sanction of the Government of India to write off.

IIL All losses, whether of public money or of stores, shall be subjected to a preliminary investigation by the officer in whose
charge they were, to fix the cause of the loss and amount involved.

(A) (@) Had 1 3R

(a) Only 1 and 111

(B) (@) &ad 11 AR 11
(b) Only II and III

(©) (N Faa 1 AR 11

(c) Only I and 1

(D) (%) ITIeRT H Y Plg Tl

(d) None of the above

Correct Option(s): A

55 U o] (P aUh , R A ShaR @1 4og gl Sl 8. dl e f3fde ufafie,
eI 9g U AGTED ©, oDl Dl a1 A [T

A CORACE. ci5is covs vmsvsasns behalf of a minor, but if a contractor dies, his legal representative, even though a minor, ............

the terms of the contract

(A) (F) GRI T1 3HB! 3R T a1 51 Wb g, ST gIT
(a) Be made by or on, is bound by

~ - S .~ - . -



(B) (W) &IR1T1 3YDT 3R W gl [hl S bl 8, S4T gHT
(b) Cannot be made by or on, is bound by

(C) (M) BRI U1 IUHT 3R Y 41 o YTl g, sem T8t g

(c) Be made by or on, is not bound by

(D) (3) GRT T1 3HBI 3R U g1 ol S Ypenl B, de7 4] g

(d) Cannot be made by or on. is not bound by

Correct Option(s): A

s6. At Ame! 9 fobw Awel H Siefel 24 30 T 4TI HTg & 3id & g faT o ol 22
I.WWE%WM&HMW$ ITTH-&5 § RN g 8

1. Od Uh ORI Yl 8IS el

111 579 ofekl o URER H fefdrear daeit amard fuf g1t §

In which of the following cases, the salary due to date may be paid before the end of the month?

1. When an individual is transferred to the payment area of another audit officer

Il. When an individual quits Government service

[I. When there is a medical emergency in the family of the individual

(A) (@) Had 11
{a) IT only

(B) (T) $9d 11 3R 11
(b) II and IIT only

(©) (N Hhad 1 3R 11

(¢) Tand I only

(D) () 1, 11, 3R 111
(d) I, 1L, and 111

Correct Option(s): A

57. Sid AN P i UGl &1 Srazadbell gl 8 @ 32 o frafeiRad wu o fufgq fevar s,
i ‘]I(;I‘,! ‘; Ei !I ‘qﬁ", ;al:”:! gﬁa

1L -17’ »2!5 €30

1L “URT, d1g’, Sg

When three copies of a voucher are needed, they shall be respectively marked:

L. “original”, ‘duplicate’, ‘triplicate’

1 R e o

1L, %5, Y. 22

(A) () Bad 11 3R m

(a) IT and III only

(B) (@) $aa 1 3R 11
(b) I'and IT only

(C) (N L, 1 3R 11
(c) L Il and IT

(D) (9) a1

(d) I only

Correct Option(s): A

53.a@mawﬁ%@uﬁﬁaﬁ@aﬁﬁﬁam@%wa%uaﬁmaﬁs@ﬁwﬁmw%?

Which of the following is correct in respect of Air Force Officers, when detached for duty with Army formation?

(A)@Wuﬁrau(%ﬁmu?ﬂﬂﬁa)aﬂwuaﬁmaﬁﬁfﬁ@ﬁmm

(a) The whole of the travelling expenses (including daily allowances) will be payable from the Army funds

m)@)mwm(&ﬁauﬁﬁ@s@mww@maﬁﬁﬁﬁmﬂ@n

(b) Only travelling expenses (excluding daily allowances) will be payable from the Army funds



(C)mmwmaﬁauﬁﬂﬁmmwa@maﬁﬁmﬁmw

(¢) The whole of the travelling expenses (including daily allowances) will be payable form the Air Force funds

(D)(H)mwmmuﬁaﬁ@mﬁwamaﬂﬁﬁﬁmw

(d) Only the travelling expenses (excluding daily allowances) will be payable from the Air Forces funds

Correct Option(s): A

sa.ﬂﬁn%@m@&ms@mﬂﬁmﬁmmﬁmwﬁmmﬁ@aﬁmmgw
Wﬁﬁﬁﬁﬁ@ﬁﬁ%ﬁﬁ%%ﬂﬁﬂﬂﬁﬁ@@@ﬁﬁ%%@@mﬂwm
e % iy Ry T e

L

n.ﬁmmﬁmmm%&ﬁnmwmwm

111, 9% FaRre iR arar Tolet forids RT3 U 47Tefi fobd 7m0t

v R & Bt iR i (3 B LRI R Jrar bar T gl

Pending receipt of the LPC or certified copy thereof, the audit officer may authorise pay being disbursed and provisionally

admitted, on furnishing of a certificate by the individual concerned stating:

I. the rates of pay and allowances to which he is entitled

1L date up to and for which he was last paid

I11. particular authority or agency by which he was so paid

IV. the fund deductions and the amount of advance(s), if any, which may have been made

(A) (@) Bad 1 3R 1

(a) I and I only

(B) (@) Had 1, I AR M

(b) I, I and II1 only

(C) (M) $ad 1, 11 AR 1V

(c) I, 11 and IV only

(D) () 1L IL, T 3R IV
(d)1, 1, I and IV

Correct Option(s): A

60, FrgRiTad 1 & frge) yi 1 3l A uaiRid =81 a1 ST 82

Which of the following are not published in Part [l Orders?

(a) (@) fafdrem ot # aRada

(a) Change in medical category

(B) (@) Ml (TRITHL)

(b) Enrolment

(©) Ty HIRe A e &1 Wi, Forg Reara & i s SUd v siade TR 3

(¢) Move of units in India not involving entry or departure from concessional area

(D) (9 3fafeaa wiHed P

(d) Extra regimental employment

Correct Option(s): A

61. FuRiRad uRiRufE 3 @ frg aRRR & sifd 37 v &1 ok &3 61 EYIHl el e

Under which of the following circumstances, L.P.C. need not be issued:

(A) (@) T HHIL UG TR T G RG] 7RI

(a) Transfer of a commissioned officer to pension establishment

(B) () T Rufafea & o wiran # ufafafad

(b) Deputation of a civilian to another establishment




Hfdd g o RIFARYT, S el H oid &1 [GIQME 9o daidd &
%)%mmm%ww R RO H RIFTER0T, EIGREIG

(c) Transfer of an individual from one establishment to another, in whose case the accounts are maintained on the running
Ledger System of Pay Accounting

(D) (9) &b, ¥ YRAIG Il &1 R 4 Heg U Al

(d) A sailor attached to the establishment of the High Commission for India in the U.K.

Correct Option(s): A

62. FEfIRad faftrmd DRI o 8 & 8 UHR &1 R SR U Usfid Tob-i! UiRIevr 3R sFees 9ie & ufd
Sfde g1 {21 S Tl ¢:
Which of the following legitimate charges cannot be debited against Technical Training and Instructional Equipment Grant
related to Corps of Signals:

(A) () U0 F AU gdae e, 3afdedd AR dH-Id! SUDR & Wil

(a) Purchase of electronic, electrical and technical equipment for training

(B) (@) TH-1@! SI-al, adb-1d] ead!, Yg Tl ofe & @i R fregwrei

(b) Purchase and binding of technical journals, technical books, reference books etc.
(©) (%ﬁﬁn‘fmamfaﬁ/ fTgfimdiefl gRI &% & MUR W BT 7T R IuwE & Fa&fvl, VI 3R 981 ARATa! dae
oy g:{[ LRG|

(¢) To meet the expenditure involved in the survey, installation and heavy repairs of Signal Equipment by
manufacturers/suppliers on contract basis

(D) (3 3 Roret HSRI/Mfrevr IwaR &1 @iig 1 2.3, gRT mftgd 781 &

(d) Purchase of signal stores/ training equipment not authorized on PET

Correct Option(s): A

63.qa%mﬁmwaﬁf‘&mﬁ%ﬁﬁﬁé@an@wﬁﬁqm%wﬁﬁﬁ@awﬁmﬁmm
fm%qL ;ﬁﬁmﬁﬁ%ﬁaﬁ@am R Fdear § PR ] S aifie.-

I1. Al

JII.%H%HWWGQWWW

Post Contract Management is a neglected area and must be undertaken carefully in consultation with the respective IFA. In
particular the following aspects need to be watched closely:-

I. Extension of Delivery Period

I. LC Extension

III. Waiver of Liquidated Damages

(A) (P) Had 1 3R 11
(a) Only 1 and III

(B) (@) had 11 3R m

(b) Only II and 111

() G T L, 11 and 11
(c) All 1, II and I

(D) () Iy H A Bl 7T

(d) None of the above

Correct Option(s): A

64. A $4=1 & O &9 91 &Y= a4 8

Which of the following statement is incorrect:

(A) (@) Ty BfETgal 3 W RS Bl 2FIEH YRS & & H Figed 78! fhar s

(a) Officers in finacial difficulties will not be appointed as Imprest Holders
(B) @@EWW&%W&WW% 3paT YoliHed Y o &t Warfrd & &t smf gl

(b) The Field Imprest Holder will not normally be permitted to operate any other public or regimental fund account.



(©) (’T)Uﬁammﬁﬁmﬁaw%ﬁﬁwwuw%mmwaﬂmmﬁ

(c) An Imprest Holder is permissible to operate more than one Field Imprest simultaneously

(D) (ﬂ)mmw:wmaﬁsﬁm#w%:ﬁ%%ﬁ@ﬁ

(d) Imprest Holders will ordinarily be military officers of rank not below that of Captain

Correct Option(s): A

65_wm%wmwﬁmﬁ%ﬁmmﬂmmﬁ@aﬁﬁgﬂawqﬁmmwmwm
%WW@WWWW%,G@WW%W@@WB@&RW%WQ@WWWW%IHqufI
S Prafiad A Yl U G TR giIaR H3 31 AR T &1 7% 8

A junior commissioned officer duly appointed by competent authority to act in place of an officer and granted acting
allowance for that purpose may be authorized to sign certain documents. However, he is not permitted to sign one of the
document mentioned below.

(A) (@) R fda

(a) Contingent bills

(8) (@) T HfSe K

(b) Military credit notes
(C) (1) 30T TRFAX

(c) Transfer voucher

(D) () B HE

(d) Work orders

Correct Option(s): A

66. FERET & T BH I o U S Qi 82
1. BT Y ey Bl WA
1. T&f gl womel & 3iefH dHgH! &1 FueH

11 9 Soe TTam e @) aaR BT AR TR bl forTds T el e fammT SeRedi 8
%ﬁa%m@,wmmﬁm)ﬁmmémm 3R Qe BT TAT B B U 8 HI Bl

Which of the following are responsibilities of the Accounts Section?

1. Maintenance of Debt Head Register

IL. Settlement of transaction under Defence Proforma Accounting Procedure

[IL. Preparation and submission of Budget Estimates for which DAD is responsible

IV. Examination of defence expenditure with a view to exploring ways and means of achieving economy, where practicable

(A) (@) Haa 1 3R I
(a) I and 1T only

(B) (@) $ad 11 3R m

(b) 11 and I1I only

(C) (M &ad 1, 11 3R 1

(¢) I, 1T and III only

(D) () L 1L, 1 AR IV
(d) I, IL, I and IV

Correct Option(s): A




m@aaﬂg Y O ! BT e Wi o 8 FueRT T Sidig?
1?7 SRR %Wﬁﬂﬁ@m&;ﬁw
1L S 3R DHINATRY T &1 Farsif # g @1 oo

1L, 3&/1 ST B Uy B Tl e ot Yeid & D! & Ufd Fere-ai 8
v, Y3 @ afeal 7 T B @l e ot w&f oRdl  ffe T 8 werEeH-a §

Which of the following transactions are settled through Defence Proforma Account?

1. Remittance into Banks and Treasuries on MRO

II. Remittance into Defence Services from Banks and Treasuries

111, Transactions originating in Defence Books which are adjustable against the balances of Railways

IV. Transactions originating in the Books of Railways and due for final adjustment in the Defence Accounts

(A) (@) dad 1 3R 1

(a) I and II only

(B) (W) $ad m AR v

(b) I1I and IV only

(©) (M1, 11, m 3R v
(¢) L IL Il and IV

(D) (8) Had I, I 3R 1V
(d) I, I and IV only

Correct Option(s): A

65, AT & Wl 1 (IR @) $ide e & [ 3% & I &1 & e
%%aua%méammﬁm.-@ﬁmmmﬁ WIS A & (70 3 Ggrae ol SifHIRal &1 wiftdd fovar S

1. 3T UYTE, < alky oRaT ARIETETIyeRa 3o Brgel @ H.ew.d. e W Tifigd $
m.aﬁmwméwﬂaﬂémﬂaﬁga@m@@mmmaﬁ%awm
e @) it e REd! & &0 B Witgd 81 fbar o Yevdl §

In order to enable the bank to credit the amount in accounts of the beneficiaries:

I. Two AAOs should be authorised to upload SBI-CMP files on Bank’s portal

II. Thereafter, two SAOs /AOs will authorise the files on the CMP portal

L. AAO cannot be authorised as second authoriser if no SAO/AO is available to be authorised as second payment authoriser

(A) (@) Had 1 3R 11
(a) I and IT only

(B) (@) L 1 3R 11
(b) 1, 1 and IIT

(C) (M Pad 1
(c) I only

(D) (8) &hdd [ 3R m
(d) I and IIT only

Correct Option(s): A

60. Ffaiad Sfedl 4 @ & W S92 fafdy sigum o1 syfedl ol HiT el 82

Which of the following is NOT part of duties of Miscellaneous section?

(A) (@) U401 gie & YA g e uHRT &1 Saradian
(a) Audit of charges paid from Training Grant

(B) (@) AFTRET @1 mafdf & e YRl Fderm ot yiTaH

(b) Payment to the Survey of India for supply of maps

(©) () IS 3R W1 SEIGH Y] B! YT

(c) Payment to S&S Imprest Holders

(D) (5) &1 HeTerd g1 Ui iy 1Y Aell i 81 3R TaRdd B & Yey o Sfac] &1 gHEisH

(d) Adjustment of debits on account of postage and air mail fee on the bags dispatched by Defence Headquarters

Correct Option(s): A



-0, Pofefad el 3 Q e IR YR 31 3FHIT §RI SIS ol Sl §2

Which of the following bills/claims are dealt with in Stores Contract Section?

(A) (F) T80, B UGH &1 7T 941 & forg &Td

(a) Claims for liveries to MTS

(B) (M) SIGER@R 1l & g e

(b) Claims for funerals allowance

(©) (M) T T SMORFa i we 1S Fareft o Ya Hard

(¢) Claims in respect of supplies made or services rendered

(D) (¥ eelibH fad

(d) Telephone bills

Correct Option(s): A

-1 ProfafEd 1 Q fed i ot & &0 & WoR 8 il o $ohdl 82

Which of the following cannot be accepted as security deposit?

(A) (@) T3S, B o WTQ

(a) Deposit receipt of SBI

(B) (T AT & WId D ID

(b) Account Payee cheque

(C) () TP dd THIOUA

(c) National Savings Certificate

(D) (9) STHER §9d s UrHgD
(d) Post Office Saving Bank Pass Book

Correct Option(s): A

7%@%%ﬁmﬁwmg%wmﬁ§mmmmm;
h.mﬁwﬁmwg i
111, e & T TR 3R YRl & Fuer o) usfa & forg witierd &t axia g

v. g ﬁma@ﬁwwﬁn%wa’ﬁﬂ, et e 7 2 T « i g ¥ e PR S § | 99 ferg
A UIER] ®! Wibfd fdemm

While checking the sale accounts in Store Audit Section. it will be seen that:

I. the sale account has been signed by the competent officer

II. the name of purchaser has been given

I1I. the authority for sale and the method of disposal of stores have been shown

IV. when the accepted bid as shown in the sale account falls below the “reserve price” shown in the auction catalogue,
sanction of the competent authority exists for the same

(A) (@) Pad |

(a) 1 only

(B) (@) Fad1 3R 1
(b) I and II only

(C) Ay Faa 1, 11 AR m
(c) L 1T and IIT only

(D) () L, IL, 11T 3R 1V
(d) L, IL Il and IV

Correct Option(s): A



Gegl| :
L o [Ofes (a8 e

ikl

Which of the following points are to be seen while dealing with requisitions for advance in respect of LTC to Defence
Civilians?

L. The requisition has been countersigned by the Controlling Officer

II. The place of visit has been specified

1L In case of LTC for self, the period of leave has been specified

IV. Advance is restricted to 90% of approximate entitlement

(A) (@) PaA 1 3R 1

(a) Tand 1T only

(B) (@) $Had I, I SR 1M
(b) I, Il and 1T only

(C) (M) ad 1 AR I
(¢) T and 11T only

g.?&Tgﬁ%ﬁlﬁ‘f&ﬁwwﬁmﬂiﬁﬂﬂm%mmﬂﬂmmmﬁwmﬂﬁmﬁﬁaﬂ

(D) (B L M1 3R TV
(d) L, 11 111 and TV

Correct Option(s): A

-4, G BITE! ] 5 AT 3R HRA D TER HSRI & garg Hig! U e <rdl W fpwch g1 PIaTs 1 oIl 82

Claim relating to Air passage of Army personnel and air freight of stores Ex-India are dealt with by-

(A) () T8 AT T S (HHR), IO
(a) PCDA (O), Pune

(B) () &1 o1 U R, direiR
(b) PCDA, Bangalore

(C) () &1 o1 U =, =18 fae!

(c) PCDA, New Delhi

(D) () &7 oRaT e (I1), 76
(d) CDA (Army), Meerut

Correct Option(s): A

75. T Ud YOI & HTETS @1 S W gafdl B G B & e vl Td ufhar SHg gr1 gHier 3R
Tt e ST oMifa 1 e ol HeifrE® g fafis erfedl & sre Srl-a3 ueH ey 81 fafie R
gy Frgael e akal Rl @) ueH fvu e ordf & fafy &= & Jdu § o149 91 9 0 9 39 9idl 82

The Systems .a.nd Procedures group is required to review and revise procedure and system to ensure their functioning at a high
level of efficiency. Different areas of work have been assigned to various offices by the CGDA. Which is correctly matched
regarding specific areas of work assigned to various PCDAs/CDAs?

(A) () &1 A1 U FEE & F.), IO ----- T304, 3R o

(a) PCDA (SC), Pune -- MES and Accounts
(B) () &1 a1 PR (), TRS --- R ARaoRiar 3R 4sR

(b) CDA (Army), Meerut --Local Audit and Store

(C) (T &1 oraT WY Fdae (0.8.), 9817 --- a1 Td Hd (Rifafera)
(c) PCDA(WC), Chandigarh -- Pay and Allowances(Civilians)

(D) () &1 G WY 15 (3.6.), 50 --- T HSH
(d) PCDA(NC), Jammu -- Border Roads

Correct Option(s): A



76. fobe W1 H fac el aa! ofiR faceh wemdr & ok # wmar sl 82

In which currency are foreign transactions and foreign aid brought into account?

(A) (P) Gaifda fadeh g of

(a) In respective foreign currency

B) (T) fa¢=i g1 ¥ uRadH (@=aoiq) H31 & a1e HRdE Ul

(b) In Indian Rupees, after conversion from foreign currency

(©) () T =it He1 9 YuRads @-avi) &3 & 918 4.U9. SR &

(c) In US Dollars, after conversion from foreign currency

(D) (9) faq2h ge1 ¥ uRadd (@-ao) &34 & 918 Wity ude |

(d) In British Pounds, after conversion from foreign currency

Correct Option(s): A

,7 W;M@mmﬁgmmﬁmmww

o iyl
n S HINFR el
IIL. ammwﬁmwﬁgaaaﬂ%ﬂﬂmmw@r@ﬁ&immﬁ

Transfer of cash benefits from Ministries/Departments should be done:

L directly to beneficiaries from Ministries/ Departments

II. through State Treasury Account

II. through any Implementing Agency as appointed by Centre/ State Governments

(A) () Pad1 AR 11

(a) I and II only

(B) (@) &ad 11 3R 11

(b) Il and 111 only

(©) (ML 1 3R
(¢) 1 T and II

(D) () HIA 1

(d) I only

Correct Option(s): A

78. aﬁmwﬁgﬁﬁﬁﬁﬁﬁﬁﬁ@ﬁ@ﬁmﬁﬁ%m%ﬁ?mmWWﬁﬁm

The period accepted by the Central and State Governments for the re-audit of past transactions involving errors in
classification is: J

(A) (@) 39§

(a) 3 years

®) (@) s 3¢
(b) 5 years

(© M1 39
(c) 1 year

(D) (%) 2 79

(d) 2 years

Correct Option(s): A



79 WW@?WWWWW@%WWm@-ﬁ$m@%ﬁ%aﬁim(aﬂg@aﬁa
) [epd YHR Holl STl 82

1. 98] GHTESH & e 3

1. 3Y ad ] T8 b STl

111 R [9atl & HIZH I

How are petty and isolated claims for services rendered by the Central Government and the State Government preferred

against one another?

L. Through book adjustment

1. Such claims will not be preferred

IIL. Through contingent bills

(A) (@) Had 1
(a) I only

(B) (@) Bad 11
(b) I only

(C) (M) dad m
(c) I only

(D) (%) 1 3R m &Ml
(d) Both I and II

Correct Option(s): A

so.aﬁaﬁmﬁﬁqu&mmﬁmﬂqﬂ)maﬁwmﬁﬁ?ﬁuwﬁm%

Public Financial Management System(PFMS) is an integrated Financial Management System of

(A) (@) &1 ol HgIHda®

(a) CGDA

(B) (@) &1 HeIf-1ia®

(b) CGA

() (1) s ud Heradies
(c) CRAG

(D) (8) el HATTg
(d) Ministry of Railways

Correct Option(s): A

81 uﬁg%ﬁ%)$wgm§ma§?éﬁ$ww&maﬁﬂﬁmwwﬁwmm

Which agency acts as a general clearing house for the adjustment of all transactions between different State Governments?

(A) (@) HRARI T &b, Trag

(a) SBI, Mumbai

(B) (@) YR Reid §@, oy

(b) RBI, Mumbai

(€) () MR W ¥, Faa Gfgdrerd A, 73 fEweht

(c) SBI, Central Secretariat Branch, New Delhi

(D) (&) MR oot S, AFTYR BT =51 TiaT SFHIT
(d) Central Accounts Section of the RBI, Nagpur

Correct Option(s): A

82, iR R Y el wer ol & rtn H b ger 9 8

How many Major Heads are there in Part — I of Government Accounts pertaining to Contingency Fund?

(A) (@) T
(a) One

~




(B) (W) <
(b) Three

(C) (MU=
(c¢) Five

ICIEE
(d) Six

Correct Option(s): A

o3 PRIGd B 4 &9 T &2 Tel 62
1.ﬂ?-aﬂaxwﬁﬂ3€z¢fﬁa‘mz&ﬂﬁmsﬂmWa@aﬁ@ﬂumaﬁq,mﬁfﬁﬁwﬁ 3R FUHH B BIGDR,

WWW%mﬁﬁsﬁmwﬁwmwﬁaﬁmﬁﬁm
u.miﬁﬁ@am@ﬁﬁ@mﬁa@%awﬂ%mwmmﬂaﬁmwﬁm
mﬁfﬁaaaﬁagmﬁgmmﬁuaq@m%eﬁa@%mﬁﬂ%ﬁmﬁﬁmﬁwmﬁa@ﬁm

Which of the following statements is/are correct?

1. The Defence Services shall not be required to pay rent for buildings of the Central Civil Departments other than Commercial
Departments and Undertakings occupied by the Defence Services for non-residential purposes

1. The Defence Services shall not be required to pay for the use of the Government / Civil aerodromes

[Il. The Civil Aviation Department shall be charged for the use of aerodromes of the IAF by the Civil aircrafts

(A) (@) DA 1
(a) T only

(B) (@) a1 3R 11
(b) I and II ouly

(©) @M1, 11 AR 1
(c) L. T and I

(D) (¥) HId 11 AR I
(d) IT and I1I only

Correct Option(s): A

U TR SHIN & Eal
éq’%%@éa:{ﬁéﬁeﬁsma%ﬁ%m T /Ty e < 3 fave fapa o Wl § il 39 2 9 fa g o

%wmﬂaﬂwwﬂmﬁﬁmwwﬁm@@wwﬁmﬁwﬁa@mwm 3{UTEd il
11, 59 TR 38 2Aa%aes Goer 3 fob fore Feley 8 R i SIren 3 ol S9ap! Uarl bt a1 Tl &1 3 ¥ feamn Sy

ghs_lrz:i\-'elling expenses of a govt. servant may be debited to a major/minor etc. head different from that to which his pay is
ebite

L in case where a Govt. servant is required to travel on duty connected with an outside body or fund

IL ;vhen Govt. considers it necessary to show separately the cost of a special service in connection with which the tour is
undertaken

(A) (@) BT 1 B! §

(a) Only I is correct

(B) (@) a1 51 B

(b) Only II is correct

(€) AN 1 R 1 g TEl §

(¢) Both I and I are correct

(D) (9) 1 3R 11 G 7Teidl §

(d) Both I and II are incorrect

Correct Option(s): A

-~ A e 3 3 o~ —~— LTS = ~ =




ss.Wﬁ@%ﬁﬂﬂWﬁRﬁﬂﬁﬁﬁﬁﬂTﬁﬁuﬂwg
| TpTH] eNgl @1 TERETa g it ikt gRT faan S

it i o &l & forg Sar faan S arfé Sl & aH® o
n.& Lo B%ﬁ%% ferg ST 3ATER I 8 ST IRBR 3peaT 3

Which of the following statement(s) is correct in /0 Pro forma accounts

L. The pro forma accounts shall be maintained by the Departmental authorities themselves.

1. The Pro forma accounts are also sometimes required to be prepared for transactions which do not relate to commercial or
quasi-commercial undertakings of Government.

(A) (@) DA
(a) Only I

(B) (@) dael I
(b) Only II

(©) @M 1 R !
(c)BothIand II

(D) (9) Iudad H A BIE el

(d) None of the above

Correct Option(s): A

s6. Frofafad @ g ogg @) YRd 31 Wifda R o gl fdar s

L HRd ) ﬁm%“%aqm
CHRd
[ Ktk NI RARE R

Which of the following expenditure shall be charged on the Consolidated Fund of India?
I The emoluments and allowances of the President of India

1. The Pension payable to the Comptroller and Auditor General of India

1IL Salaries and allowances payable to the Judges of the Supreme Court

(A) (@) hddl 1
(a) I only

(B) (@) Had 1 3R 11
(b) 1 and 1I only

(C) (T) Had 1 AR 1M
(¢) I and 11T only

(D) () L 11 3R 11
(d) L I and III

Correct Option(s): A

it 3 e A PR T 1 "
1§m$méwmﬁ$mﬁ%ﬁ%a§m%

1. 3] & TSR @l TR R o Ry SRaTaie ST STRar 8
g%ﬁ%mgﬁwmﬁwﬁmmwﬁmﬁ%mﬁmmmmww

v, SR d are ! & A # 39 diik ad Wied (TRS) ST & 4RI ) ) S A wroTgE H e f
SO e oHfad ot S SR LT fadn T ol

Which of the following statements are correct with regard to “Advances”?

1. Account Section is responsible for watching adjustment of advances

II. Audit Section is responsible for watching adjustments of advances

IIL All recoveries effected in adjustment of advances will be credited in the compilations to the same heads as the advances
when originally made were debited

[V. In case of interest bearing advances, the amount of interest accrued up to the date an individual was last paid should also
be noted on the Last Pay Certificate

(A) (@) Had 1 3R

(a) I and III only

(B) (@) $ad 1 3R m
(b) 11 and I1I only

=




(C) @ 1, 11, I 3R IV
(¢) L IL Il and IV

(D) () P I, 1 AR v
(d) 1L, TII and IV only

Correct Option(s): A

53, Frafelad § T aH O Qanaa, & a1 wes el &b el 8T 3Tl 82

Which of the following Service/ Organisation is NOT covered under Defence Services Estimates?

(A) (@) 3. HI.TF.TH.
(a) ECHS

(B) () &7 3 iy Fa-gford &1 grdsd &5 o JUshH

(b) Defence Ordnance Factories /Seven newly created Defence PSUs

(C) (3T) & Uy Ud fapr T
(c) DRDO

(D) (9) HRdg TeRED
(d) Indian Coast Guard

Correct Option(s): A

50, Frafead § Q P W areH @1 A ¢ TR 3§ geferd g2

Which of the following Demands for Grant pertains to Defence Pensions?

(A) (F) e Y& 19

(a) Grant No. 19

(B) (W) 3TaH &1 20
(b) Grant No. 20

(C) () 3E el 21
(¢) Grant No. 21

(D) (8 3fJa T8 22
(d) Grant No. 22

Correct Option(s): A

90. a 2022-23 %ﬁmwwm@a&mmmﬁﬁ%@aﬁ@ﬁmm%wuﬁﬂmaﬁ@ﬁ
T &1 Fay a1 o el 82

In the total Defence Revenue (Net) Expenditure (BE) for 2022-23, which of the following component has the largest
percentage share of Revenue?

(A) (@) HSR 3R JuE

(a) Stores & Equipment

(B) (@) 4 Td ¥

(b) Pay & Allowances

(C) (M) IR

(c) Transportation

©) () Tod FHfoLEH, Yot 3R et e o1 wavane

(d) Revenue Works. Maintenance of Buildings. Installation etc

Correct Option(s): A

o1, CrufRifaa 71 A S e Harea (e S St s & RITHI-eF & Sldld el 1l 82

Which of the following does NOT come under ‘Establishment Expenditure of the Centre’ under MoD (Civil)?

(A) () &I HUeT TS
(a) Defence Estates Organisation




(B) (@) G YSE AP &S Hfearad

(b) Border Road Development Board Secretariat

(C) () T[T YR HETHE IS

(¢) Director General Quality Assurance

(D) (%) TR Yal B0l

(d) Armed Forces Tribunal

Correct Option(s): A

>, fafyiier ol & ddy # Faff@a # ¥ ol ?
I?qﬁﬁfﬁlﬂﬁ'ﬂ@?%u A&

u.%m(m)ﬁgmw%mﬁwmwa@é?mm%uﬁmﬁmm%
111, 3ifem ades 3R IRafdd - & | R & F0 HRY &) GHledS =Y I WY fbar S 8

Which of the following is/are correct with regard to Appropriation Accounts?

I. It is the final set of the Budget

1. It reflects expenditure against each head of account booked as per printed compilation up to March (Final)
TIL The reason for variations between final allotment and actual expenditure are critically explained

(A) (F) DA
(a) I only

(B) (0) HaA 1 3R 11

(b) I and II only

(C) () Hael 11 SR 1
(c) Il and III only

(D) () 1, 11 3R 111
(d) L, I and III

Correct Option(s): A

o3, Sl @) Frafelaa S § 8 & < Aftwt ffae Tem o =21 andi g2

Which of the following categories of Pensioners are NOT covered in Civil Pension?

(A) (@) T&f T faHTT
(a) DAD

(B) () UIH USb 16+
(b) BRO

(C) () 517 S HHR A5 3Wel
(c) JAKLI

(D) () UTRHT, FIYAT 3R arg@ & e ffafera

(d) Defence Civilians of Army, Navy & Air Force

Correct Option(s): A

o4, T&IT ST Uy R () & day # Frafifed § ¥ oF 99l 82

Which of the following is correct in respect of PCDA(Pension)?

(A) (@) 21 YA dsie @) DY e HATCR P IR 1 ST
(a) Defence Pension budget is submitted directly to MoD

(B) (@) Rifde e soie &1 9Y @q g, @) g fadl ST 8

(b) Civil Pension budget is submitted directly to CPAO

(©) (ﬂ)ﬁiﬁﬁﬁmﬁ&ﬂﬁ?&ﬂé@ﬂgﬁdﬁ%maﬁa%mwwﬂmqﬁﬁmmwé

(¢) Civil Pension budget is submitted to CPAO though CGDA office

(D) (ﬂ)mﬁmmﬁma@wﬁdﬁ%mﬁm%mwm@é@%ﬁdﬁﬁu@amm%

(d) Defence Pension budget is submitted to CGA through CGDA




Correct Option(s): A

95_:ﬁé@®m$ﬁéﬂﬂﬁaﬁ@ﬂﬁ@aﬁqmmﬁmfﬁﬂuﬁaﬂﬁwmﬁﬁﬁimmﬁ@m%ﬁ

Which of the following is the Major Head applicable for the pensioner and family pensioners in respect of DAD?

(A) (@) 2071
(a) 2071

(B) (@) 2076
(b) 2076

(C) (M) 2077
(c) 2077

(D) (9) 2078
(d) 2078

Correct Option(s): A

o6, IR ter @1 Yo #33 & R ARifa 4s ¥ T 3 SdTs & BRVIER TG 3y fFreraadr &l Fafdiad
=0 | THigd febaT STl &:

For determining the disability pensions death or disability arising as a result of enemy action in international war is
categorised as:

(A) (@) Uit St
(a) Category D

(B) (@) ol i
(b) Category C

(© (M Aol g

(c) Category E

(D) () it <
(d) Category B

Correct Option(s): A

97. forraaa U= # Fafafad Figd e

Disability pension consists of

(A) (@) Had (eI dd

(a) Disability element only
(B) (@) had ¥dl dd

(b) Service element only

(C) (M) Had TR-Ydl dd

(¢) Non-service element only

(D) () 91 dcd AR (AT dIed

(d) Service element and disability element

Correct Option(s): A

98. BT AFTTH, 1961 B STHR Fwied 3 8 fFd <o J Sfferd el fbar idi g2

As per the Income Tax Act, 1961, which of the following is NOT included in “Salary™?

(A) (@) Bl

(a) Wages

(B) (@) J4ald
(b) Gratuity

(C) (1) TRarR Uz
(c¢) Family Pension

~



(D) (&) U=
(d) Pension

Correct Option(s): A

99. Tg SR 4 A O B (R SUR A T U TR ST B Feldl b ard b g, STgR01 ¢d Wi
&rmrﬂﬁ(@.ﬁ.ﬁ.)mméﬁmﬁﬁﬁﬁaﬁqmaﬂﬂﬁwwmarﬁaﬁﬂﬁf%?

For claiming deduction of interest on borrowed capital for computation of Income from House Property. which of the
following details / evidences is not mandatory for the DDO to obtain from the employee?

(A) (@) T 3] YT a1 sars
(a) Interest payable or paid

(B) (@) HUICrdl &1 1H
(b) Name of the lender

(C) (M) FBUTCId] DT Udl
(¢) Address of the lender

(D) (H) SBUTETd] &1 e (A1L3ME.T)
(d) TIN of the lender

Correct Option(s): A

%oo_a-ssai%m@mmW&ﬁmﬁﬂé%ﬁawmnﬁmﬁéﬁ%aﬁmﬁmmm
YR W

1. BTH 26U0H

1. FeTcll B arel g1 SIRT TS ey HHTuT

The deductee from whose income tax has been deducted at source would be entitled to get credit of the amount so deducted on
the basis of

I. Form 26AS

1I. TDS certificate issued by the deductor

(A) (P) hadl 1
(a) Only 1

(B) () Hhad II
(b) Only II

(©) @ FaA 13RI
(¢) Only I and 11

(D) () Sudad H A Big e

(d) None of the above

Correct Option(s): A



